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1. If f(x) = (2x — 5)° then rate of change of f'(z) is

(a) 80(2z —5)3 &
(b) 40(2z — 5)3 %‘(‘x) = 5,2 (2::_5)“:40 (-29( - 5)
(c) 80(2z — 5)7 3

@we-5 Pix) = B0 (22 - 5)

(e) 20(2z — 5)3

2. The graph of a function f(z) is given by

Which of the following statements is not true about f(z)?

(a) It has absolute maximum at (0, 0)

(b) It is decreasing on (—oo, —1) and (0, 1)

(c) It is increasing on (—1,0) and (1, 00)

(d) It has relative minima at (—1,—1) and (1, —1)

(e) It has relative maximum at (0, 0)
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3. If c = 3¢ — 3¢°> + ¢ is a cost function, when is the marginal cost increasing?
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4. The absolute maximum of f(z) = on [0,2] is
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5. If f(x) = 2% — 82 — 6, which of the following statement is false about f(x)

/ /3/3\

(a) f(x)is decreasing on k 3\/0 \éo) % (x.) le 46x
() et
(b) concave up on | —oo, ——
) ’ (=0 = x=0)-2,2
(c) concave up on %3700\ B - it
\ / ) \ _f, )= 12 =
(d) concave down on k_Zg‘V/g, 2;3) -4 [3!!. —-Ll] =0
—2v/3 = x= x ,2,_\‘:3_
(e) inflection points when z = ) or @ 3

. -2 —a3 0 ’dg— 2
e = + & — | — ¢

P\ | — 0+ [+ @ — |— o+

f k\>f F\\__../

100
6. Which of the following statements is true for demand equation p = —— graph?

+2
(a) It is decreasing and concave up when g > 0
(b) It is decreasing and concave down when ¢ < 0 {oo 40
(c) It is increasing and concave up when g > 0 ?|-_-:_ -a:ﬁ
(d) It is always concave up for any value of ¢
(e) It is always concave down for any value of g __ 200 7 0

e
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7. Let f(x) = 2* — 242 + v — +/12. Then, f has

)=l 8% d o Pi(q= 42 48 = 42 (x~2)(x+2)

= |

b

(¢) no inflection point

one inflection point

(d) three inflection points

(e) four inflection points

=, 13 2

Pyl - — ¢+

8. Let f(z)

6 (x]-.-. --f.'x.e.

p &

(a) f is concave up on <

(c) f is concave up on (—oo, 00)

(d) f is concave down on (—oo, —

(e) f is concave up on <_

M Ym

ﬁv

(b) f is concave down on (—go, -

{,“(aql =X 4 = 4:-1-
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= ¢ . Then which of the following statements about f is true.
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22° + 1
3z(2x — 1)(4x — 3)

9. Which of the following statements is true for the graph of f(z) =

1
(a) vertical asymptotes at x is equal to 0, 3 and 2

(b) It has no horizontal asymptote

SN - . o1 3
(¢) horizontal asymptotes at y is equal to 0, 5 and 2
/20 I [ R R S 1
(d) verviCal asyIiipulole IS & — E

2
(o) harizontal acvmntate ia o — =
\€) NoTizontal asyimplowe 15 Y 3

f has denominator zero at x is equal to 0, 1/2 and 3/4.

10. The demand equation is p = —10q + 40. At what price will the revenue be maxi-
mized?

” Q-;—..?c\ - (—-10*‘-\-%](1 = -0 c{"_} Lfoq
40 ‘R‘:HQOU\-’:L\Q j’R}:O@ o,:.ﬁ

Then at g=2, p=-20+40=20
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2
11. A manufacturer’s total cost function is ¢ = qz + 3¢ + 400. The quality ¢, for which

average cost is minimum, is equal to

(a) 40 - Yoo
(b) 0 c= % 3—?"(‘5’\"5— 5
(c) —40 — 4600 = ob
(\d;20 dE _ 1 _Meo . j"‘"i"__ P =) ‘wq';o
(¢) 160 3q 4 9 5
yo 4o
OEEE
.---"_":—'——_
(&
\?\ /

12. A manufacturer can produce at most 120 units of a certain product each year. The

demand equation for the product is p = ¢?> — 100g + 3200 and the manufacturer’s
average-cost function is

10000

2,
c=—-q° —40
c 3q q +

The profit-maximizing output is ¢ and the corresponding maximum profit is p then

£-p1-29
(a) ¢ =120, p = 86,00 . N ; ,
(b) g = 40 130000 = 47 - el +l0u g -151, ¢ #3 -lojooo
U3
98000 S 2
(C)q:807p:T - JLCD - 6011 -(—31001, “'"/aao
(d) ¢ =0, p = 10,000 , _
(e) ¢ =1, p = 10,000 ' = 9 -lreV +3%0 =(T-40)(h-3.)

Mar) F), Rlxc) , pe4s), £ (\M)'i

-

-_\/lak \ \b'gao) (;‘5}31 45’166‘ %J gédw

2
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13. By using differential, an approximation of v/17 is

. 65
(a) 3—2 ].[ s _1 4
(b) g_; L'El' B[Z) - J;, T)'Kl"l 5 ( )-—-z'-s ——_‘JJ;;B
' 4 -
© Sg Jer9) - ) = 1'(46). (7 -4) = S 3T

(

[N

 J—
Y

32 4/) -—--..-.2 145,
(6)63 = %— Y 32 32

) |
[N

14. Let f(z) = 2 — 12z + 1, then f(z) has relatively maximum at z = a relatively
minimum at z = b,then a + b is equal to

(a) O

(b) 2 0= 212 = 3(x-D(>+2)

(c) 4 S 9

() —
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15. If ¢ = /2500 — ¢* then d_p is equal to
q
(a) — /2500 — p? -
D 950002 \
2 7
(c) _w dP 22500 ¢
.C) %
)
(@ 2500 — p
2p
p
©) G500 — o2
dr q .
16. If d_q =4 — = then the demand function is
() p=4— = 2
(b) p=4-— % = A0 ? 9 O
2
q
—49 - L
(c) p=49— 5
2
q
d) p=49— —
(d) p z
(e) p:49—q—2—'r10
5
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3 2 7
2 -~ (2
S G_ x” 1 Gx)alx
5
_3,5/3
(a) 3z 72 132 e %1.] _’/21-! 63(.1'
25 TN - e & RE o C
313 7 = 2 2 s
(b) = —Zw1/2+6+6 5(3-1-}) 2 (—-‘-ﬁ-i)
—2 /3 3 Y o
3z°/3 2
(d) o + 72?2 — 322 + ¢
31 7
(e) — x5 +Zm71/2—6+c

Te « ¢
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R

19. An oblique asymptote for the graph of the function, f(z) = P is
3+

(a) y=—xz+1 e {fﬂ o 3 s _2-:

m—- —<c ==
(b)) y=2x+1 Nemgs o g My :-5,. =¥
() y=—lory= o

. 3.=" -
(d) does not exist f[’q"": = -
(e) r= % 3_:,“+7.q x; — 13-1-3
= ’ﬁf_ T TR
alx
—d

20. If y" =2+ 1, y/(1) =2 and y(1) = 5, then

(au)y—:';ngI2 Ty 2

"6 2 26 I
(b)y=x3+3x2+3x+23 &_ E—-_.\.:l'-l-c
@=L+ T g3 : | Com

YT T2 T2 3(4):-::--1-[-\{-;2@ =
(d)y=z+1 o :
(@ y=a'—Z t2+7 -@é:;—-*x.,.a

3
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